(DARTHEGIERRXS)

Find the sum.

L 2.
G+ 1b - B+ (-4) -

3. 4
(-6) +12 - 2+ (-9) -

5. 6.
3+8 - (-4) + (-8) -

3
(-6) + (-b) =

)
1+ (HO) =

12
5+(-9 =




(DARTHEGIERRXS)

Find the sum.

1.
4 +9 =

2
(-3) +(-8) =

4
2+ (-9 =

)
b+ | =

6
1+ (-12) =

.
(-4) + (-14) -

3.
5+ (1) -

9
4+ () -

10.
[+ (-8) -

il
8+ (-8 =

12.
2+ (-2)

13
=0+ (-2) =

14
2+ (-b) =
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OURBXDRIAKOTHDNHE (DAKTHEXEXDIRXS)

Find the difference.

1
1-1o =

2.
3-(-1) -

3
() - (-5) -

4.
b~ (-8) -

3
(-6) - 12 =

3
(-2) - (-2) =

1

)
(-9 - (-4) -

12.
2 - (-b) -




ORDBRTIRIANCKTHDANDE) (DAPETHEXGHKEXRKS)
M| Find the difference. :

1.
2-1-

2.
b- (- -

3
(-4) - (I -

)
- - (-2 -

3
5-8-=

6.
(3) - 14 -

T
(-10) - 5 =

3
(-5) - (-9 =

9.
4 - () -

)
(-8) - (-3) -

1

i
=D - (-4 -

12.
8- (-4) -

3
2 - (-6) =

14,
0 -15 =




(DATHEEIERRXS)

Find the sum or difference.
1. 2.
2 -9 = 2+ (-9 =

3 4.
(1) + -4 - 0+ (-T) -

6.
(-4) - 12 -

3
-4+ (3) =

10.
b- (1) -

12.
3- () -

14

1-12 =
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,
(DATHEEIERRXS)

Find the sum or difference.

L 2.
4 -8 - (-5) + (-b) =

3. 4
2+ (-8 = b + (-8) =

5 6
T-13= (-6) - 5 =

1 3.
I - (-8) - 9+ (-4) -

9 10.
2- (-b) - (1) - (-8) -

1 12

L .
(3 - (D) - 1-(-3) -

3
2 +(-8) =




WDRDXDWE © SKURBXDRHIAXODIDHNNE

(DATHEEIERRXS)

Find the sum or difference.

L
B+ (-4) -

2.
o-13-=

3
9-10 =

4.
4 - 8-

5
(-6) + -l =

6
=1+ (-5

T
I-(-6) =

3
(-2)-10 =

9
B+ (-5) -

10.
4+ (-b) -

il
1-(-8 =

12.
4-(-5) -

13.
4- (-9 -

14
3-(-2) -
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WDRDXDWE © SKURBXDRHIAXODIDHNNE

(DATHEEIERRXS)

Find the sum or difference.

1.
4 - 8-

2.
2 - 20 -

3
5-(-9 =

4
T+ () -

5
(-6) + -l =

3
(-10) + (-12) =

T
I-(-6) =

3
9-12 =

q
5+ (-4 =

10.
5+ (-8) -

il
T-(-23) =

12
22 - (-10) =

13.
- (-4) -

14
(-1 - 13 =




,
(DATHEEIERRXS)

Evaluate each expression.
L 2.
B+ (-2 +6 = T+12+5-=

3. 4.

2- (-5 +b- 2+ b+ (-18) -
b, 6.

(D+5+(= | (5+9+(H0) -

T 3
o-(-2D+5-= [4-12+6 =

q 17
20 + (-14) + 2 - 5+15-(-8) =

11. 12.
26 + 4 - (-3) - 9+ 22 - (-0) -

13. 14
4+ b - (-4) - (-20) - 9+ 15 -
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,
(DATHEEIERRXS)

Evaluate each expression.

1

(4 + (HO) + b -

2.
B8+9+3-=

3
5- (-9 +9 -

4.
4+ 3+ (-0) -

5
(-6) + 8 + (-1) -

3
(-2) + 8+ (-2) -

T
1-(D+12 =

3
5-13+8-=

q
2+ (-I5) +3 =

)
T+183-(-9 =

1L
(M +2 - (-5) -

12
T-19-(-8) -

13
2+9-(5) =

14
(-18) -4 +12 =

©www.thecurricu lumcorner com




ANSWER KEY

(DARTHEGIERRXS)

Find the sum.

1
T+1b =125

2
B+ (-4) - 4

3
(-6) +12 =6

4
2+ (-9 =-1

5.
3+8 =

6.
(-4) + (-8) = -I2

1.
0+9=19

3.
(=6) + (-b) = -2

9
8+8=1lo

10
1+ (-10) = -

1L
4+ () - -8

12.
5+ (-9) = -4

13
0+(-D =3

14
3+(-5)=-2
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ANSWER KEY

(DARTHEGIERRXS)

Find the sum.

1. 2.
4+9-8 (-3 +(-8) - I

3. 4.
T+ (-8 - - 2+ (-9 = -T

5 6
b+1=13 9+ (-2) = -3

1 3.
(D +(H) =18 | 5+(T--2

9 10.
4+ (-5 = I [+ (-8) = -T

il in
B+(-8)=0 2+ (-2 = -0

13 14,
-7+ (-2) = -9 12+ (-b) = b
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ANSWER KEY

OURBXDRIAKOTHDNHE (DAKTHEXEXDIRXS)

Find the difference.

1.
9-1b = -T

2
3-(-D =10

3
(-2 - (-5) = 3

4
b-(-8) - 14

5,
5 -8 - -3

3
(-6) - 12 = -I8

1
2-2=10

3.
(-3)-(-2)=-3

9
3-(-5) - 8

10.
(-9) - (-4) = -5

il
3-(I)=14

12

2-(-b) =8

3
B-(-N =105




ANSWER KEY

OURBXDRIAKOTHDNHE (DAKTHEXEXDIRXS)

Find the difference.

1. 2.
2-7-5 b- (-1 =8

3 4.
(-4) - () = T (-9 - (-2 = -T

5 6
5-8-=1 (-3) - 14 = -1

1 3.
(-0) - 5 = -I5 (-5 - (-9 - 4

9 10,
4 - (-6) = 20 (-8) - (-3 = -5

11. 12
(D-(H=-5 | B-(H-I

13 14
2-(-6) =18 0-15=-5
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ANSWER KEY

J| DDDDBE ® SPODBBODDBS

(DATHEEIERRXS)

Find the sum or difference.

L
2-9-=3

2.
2+ (-9 = -

3

. 4.
(1 + 4= - 0+ (-1 -3

5.
b-9=15

6.
(-4) - 12 = b

[

-4 -

3.
: (-4 + (-3 = -1

9

3-(5-8 b-(D-=8

10

11

4-(9-=1 3-(D-4

12

13

5+ (-b) = - T-12=5

14
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ANSWER KEY

,
(DATHEEIERRXS)

Find the sum or difference.

1 2
4-8=6b (=5) + (-0) = -

3 4
2+ (-B) =-b b+(-8)=8

5. 6
T-13=-0b (-6) - I5 = -2

1. 3.
I-(-8 =1 9+(-4) =5

9 10.
2-(-t) - 8 (-1~ (-8) -

1 12

L .
(-3) - (-2) = -l T-(-3=10

13. 14.
2+(-8) - 4 9-15 - -b
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ANSWER KEY

,
(DATHEEIERRXS)

Find the sum or difference.

L
B8+ (-4) - 4

2.
b-18=-T

3.
9-10 = -

4.
4 - 8= b

)
(-6) + - =T

6
-7+ (-5 = -12

1.
I-(-6) =1

3
(-2 -10 = -12

q
8+ (-5) =3

10.
4+ (-b) = -2

il
1-(-8) =105

12
4-(5) =1

13.
4-(-9 -8

14
3-(-2D =5

©www.thecurricu lumcorner com




ANSWER KEY

,
(DATHEEIERRXS)

Find the sum or difference.
1. 2.
4 - B=10 2 -20-=-8

3. 4
5- (-9 - 24 7+ () - -4

5 6
(-6) + - = -1 (-10) + (-12) = -22

1. 3.
I'-(-6) =11 9-2-=-2

q 10

5+(-4) =1 5+(-8) = -3
il in

T-(-23) = 40 22 - (H0) = 32

13 14
3I-(-49 =35 (- -13 = -30

©www.thecurricu lumcorner com




ANSWER KEY

,
(DATHEEIERRXS)

Evaluate each expression.

1
B+ (-2 +06=1

2.
T+12+5 = 24

3
2-(-5)+6=103

%
2+6+(-18) =0

5
D +5+()=12

6.
(-5) + 9+ (H0) = -b

1.
o-(-2)+15=13

3
4-12+6=8

q
20+(-4)+2-8

10
5+15-(-8) =23

il
26 +4 - (-3) = 33

12
1+22-(-0) = 4

13.
4+ b - (-4) = 24

14
(-20)-9+15=-14

©www.thecurricu lumcorner com




ANSWER KEY

,
(DATHEEIERRXS)

Evaluate each expression.

1 2
(- +(-0)+b=-8] B+9+3=20

3 4.
5-(D+9-1 | K+3+(0)=T

) 6.
(-0)+8+(-T)=-5] (-D)+8+ (1D =-b

1. 3.
1-(D+12=25 | 5-B+8=10

q 10
A+ (-15+3=1 1+B-(-9=13

il 12
-M+2-(5=-0] 9-9-(8) =-2

3 14
2+9-(-5 =120 (-18)-4+12=-0

©www.thecurricu lumcorner com
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